

Jarosław Mikołajski

On nonoscillatory solutions of a linear deviated system of differential equations

*Archivum Mathematicum*, Vol. 27 (1991), No. 1-2, 57--63

Persistent URL: <http://dml.cz/dmlcz/107404>

## Terms of use:

© Masaryk University, 1991

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

# ON NONOSCILLATORY SOLUTIONS OF A LINEAR DEVIATED SYSTEM OF DIFFERENTIAL EQUATIONS

JAROSŁAW MIKOŁAJSKI

(Received September 16, 1985)

**Abstract.** The paper contains a certain sufficient condition under which there exists a  $T$  such that all nontrivial solutions of a linear deviated system of  $n$  ordinary differential equations have a bounded number of zeros of their components in the interval  $[T, \infty)$ . For this purpose we transform the considered system into a system of  $n - 1$  differential-integral equations.

**Key words.** Linear deviated system of differential equations, system of differential-integral equations, transformation of systems of equations, nonoscillatory solution.

**MS Classification.** 34 C 10.

## 1. INTRODUCTION

Nonoscillation of systems of ordinary differential equations is investigated by many authors. In particular, Z. Ratajczak [6] has given some criteria of nonoscillation of the linear systems. In other papers, there are considered some sufficient conditions in order that components of all nontrivial solutions of systems of differential equations have a bounded number of their zeros. Z. Butlewski [1, 2] has given sufficient conditions under which components of all nontrivial solutions of the linear homogeneous system of two and three differential equations have at most one and two zeros, respectively. In [5], these results have been extended to the linear homogeneous system of four differential equations. A generalization of this problem for the linear homogeneous system of  $n$  differential equations and an extension to the linear nonhomogeneous system of  $n$  differential equations are contained in [3] for  $n = 2$ , and in [4] for  $n \geq 3$ .

The present paper contains an extension of these results to the linear system of  $n$  differential equations with deviating argument

$$(1.1) \quad x'_i(t) = \sum_{j=1}^n a_{ij}(t) x_j(g(t)) + f_i(t), \quad i = 1, 2, \dots, n,$$

where

$$(1.2) \quad a_{ij}, f_i, g \in C^1[t_0, \infty) \quad \text{for } i, j = 1, 2, \dots, n,$$

$$(1.3) \quad a_{1n}(t) \neq 0 \quad \text{for } t \in [t_0, \infty),$$

$$(1.4) \quad \exists \quad \forall g(t) \geq t_0. \\ t_1 \geq t_0 \quad t \geq t_1$$

Let

$$T = \min \{t_1 : g(t) \geq t_0 \text{ for } t \geq t_1\}.$$

We give a sufficient condition under which the nontrivial first components of all solutions of the considered system have a bounded number of zeros in the interval  $[T, \infty)$ . Analogous conditions for the remaining components can be given.

A function  $f: [\tau, \infty) \rightarrow R$  is called nonoscillatory if

$$\exists \quad \forall f(t) \neq 0. \\ t_1 \geq \tau \quad t > t_1$$

**2. Lemma.** Let the conditions (1.2)–(1.4) hold. Assume that there exists a solution  $(\xi_1, \xi_2, \dots, \xi_n)$  of the linear homogeneous system

$$(2.1) \quad y'_i(t) = \sum_{j=1}^n a_{ij}(t) y_j(g(t)), \quad i = 1, 2, \dots, n,$$

corresponding to the system of differential equations (1.1) such that  $\xi_1(t) \neq 0$  for  $t \in [T, \infty)$ . Then the substitution

$$(2.2) \quad x_1(t) = \xi_1(t) \int_T^t z_1(s) ds, \\ x_i(t) = \xi_i(t) \int_T^t z_1(s) ds + z_i(t), \quad i = 2, 3, \dots, n,$$

brings the system (1.1) on the interval  $[T, \infty)$  to the system of equations

$$(2.3) \quad z'_1(t) = b_{11}(t) z_1(t) + c_1(t) z_1(g(t)) + \sum_{j=2}^{n-1} [b_{1j}(t) z_j(g(t)) + c_j(t) z_j(g(g(t)))] + \\ + h_1(t) + A_1(t) \int_T^{g(t)} z_1(s) ds + B(t) \int_{g(t)}^{g(g(t))} z_1(s) ds, \\ z'_i(t) = b_{i1}(t) z_1(t) + \sum_{j=2}^{n-1} b_{ij}(t) z_j(g(t)) + h_i(t) + \\ + A_i(t) \int_T^{g(t)} z_1(s) ds, \quad i = 2, 3, \dots, n-1,$$

where

$$b_{11} = \frac{1}{\xi_1} \left[ \frac{a'_{1n}}{a_{1n}} \xi_1 - \sum_{k=1}^n a_{1k}(\xi_k \circ g) - \xi'_1 \right],$$

$$\begin{aligned}
(2.4) \quad b_{1j} &= \frac{1}{\xi_1} \left( a'_{1j} - \frac{a_{1j} a'_{1n}}{a_{1n}} \right), \\
b_{11} &= \frac{a_{1n}}{a_{1n}} \xi_1 - \xi_1, \\
b_{ij} &= a_{ij} - \frac{a_{1j} a_{in}}{a_{1n}}, \\
c_1 &= \frac{(\xi_1 \circ g) g'}{(a_{1n} \circ g) \xi_1} \sum_{k=1}^n a_{1k} (a_{kn} \circ g), \\
c_j &= \frac{g'}{\xi_1} \sum_{k=2}^n a_{1k} \left[ a_{kj} \circ g - \frac{(a_{1j} \circ g) \cdot (a_{kn} \circ g)}{a_{1n} \circ g} \right], \\
h_1 &= \frac{1}{\xi_1} \left\{ -\frac{a'_{1n}}{a_{1n}} f_1 + g' \sum_{k=2}^n a_{1k} \left[ f_k \circ g - \frac{a_{kn} \circ g}{a_{1n} \circ g} (f_1 \circ g) \right] + f'_1 \right\}, \\
h_i &= -\frac{a_{in}}{a_{1n}} f_1 + f_i, \\
A_1 &= \frac{1}{\xi_1} \sum_{k=1}^n \left[ \left( a'_{1k} - \frac{a_{1k} a'_{1n}}{a_{1n}} \right) \cdot (\xi_k \circ g) + a_{1k} g' (\xi'_k \circ g) \right], \\
A_i &= \sum_{k=1}^{n-1} \left( a_{ik} - \frac{a_{1k} a_{in}}{a_{1n}} \right) \cdot (\xi_k \circ g), \\
B &= \frac{g'}{\xi_1} \sum_{k=2}^n a_{1k} \sum_{p=1}^{n-1} \left[ a_{pk} \circ g - \frac{(a_{1p} \circ g) \cdot (a_{kn} \circ g)}{a_{1n} \circ g} \right] \cdot (\xi_p \circ g \circ g),
\end{aligned}$$

for  $i, j = 2, 3, \dots, n-1$ . Moreover

$$\begin{aligned}
(2.5) \quad z_n(g(t)) &= \frac{1}{a_{1n}(t)} \left[ \xi_1(t) z_1(t) - \sum_{j=2}^{n-1} a_{1j}(t) z_j(g(t)) - f_1(t) + \right. \\
&\quad \left. - \sum_{j=1}^n a_{1j}(t) \xi_j(g(t)) \int_t^{g(t)} z_1(s) ds \right].
\end{aligned}$$

Proof. Let  $(\xi_1, \xi_2, \dots, \xi_n)$  be the solution of the system (2.1) appearing in the assumption of the lemma. In the system of differential equations (1.1) we change variables according to the formulae (2.2) on the interval  $[T, \infty)$ . We get

$$\begin{aligned}
(2.6) \quad \xi_1(t) z_1(t) &= \sum_{j=2}^n a_{1j}(t) z_j(g(t)) + f_1(t) + \\
&\quad + \sum_{j=1}^n a_{1j}(t) \xi_j(g(t)) \int_t^{g(t)} z_1(s) ds, \\
z'_i(t) &= -\xi_i(t) z_1(t) + \sum_{j=2}^n a_{ij}(t) z_j(g(t)) + f_i(t) + \\
&\quad + \sum_{j=1}^n a_{ij}(t) \xi_j(g(t)) \int_t^{g(t)} z_1(s) ds, \quad i = 2, 3, \dots, n.
\end{aligned}$$

Hence the equation (2.5) follows. Differentiating the first equation of (2.6) and eliminating the variable  $z_n$ , we obtain the system

$$\begin{aligned}
 \xi_1(t) z_1'(t) = & \left[ \frac{a_{1n}'(t)}{a_{1n}(t)} \xi_1(t) - \sum_{k=1}^n a_{1k}(t) \xi_k(g(t)) - \xi_1'(t) \right] z_1(t) + \\
 & + \left[ \frac{\xi_1(g(t))}{a_{1n}(g(t))} g'(t) \sum_{k=1}^n a_{1k}(t) a_{kn}(g(t)) \right] z_1(g(t)) + \\
 & + \sum_{j=2}^{n-1} \left\{ \left[ a_{1j}'(t) - \frac{a_{1j}(t) a_{1n}'(t)}{a_{1n}(t)} \right] z_j(g(t)) + \right. \\
 & \left. + g'(t) \sum_{k=2}^n a_{1k}(t) \left[ a_{kj}(g(t)) - \frac{a_{1j}(g(t)) a_{kn}(g(t))}{a_{1n}(g(t))} \right] z_j(g(t)) \right\} - \\
 & - \frac{a_{1n}'(t)}{a_{1n}(t)} f_1(t) + g'(t) \sum_{k=2}^n a_{1k}(t) \left[ f_k(g(t)) - \frac{a_{kn}(g(t))}{a_{1n}(g(t))} f_1(g(t)) \right] + f_1'(t) + \\
 (2.7) \quad & + \sum_{k=1}^n \left\{ \left[ a_{1k}'(t) - \frac{a_{1k}(t) a_{1n}'(t)}{a_{1n}(t)} \right] \xi_k(g(t)) + a_{1k}'(t) g'(t) \xi_k'(g(t)) \right\} \int_t^{g(t)} z_1(s) ds + \\
 & + g'(t) \sum_{k=2}^n a_{1k}(t) \sum_{p=1}^{n-1} \left[ a_{kp}(g(t)) - \frac{a_{1p}(g(t)) a_{kn}(g(t))}{a_{1n}(g(t))} \right] \xi_p(g(t)) \int_{g(t)}^{g(g(t))} z_1(s) ds, \\
 z_i'(t) = & \left[ \frac{a_{in}(t)}{a_{1n}(t)} \xi_1(t) - \xi_i'(t) \right] z_1(t) + \\
 & + \sum_{j=2}^{n-1} \left[ a_{ij}(t) - \frac{a_{1j}(t) a_{in}(t)}{a_{1n}(t)} \right] z_j(g(t)) - \frac{a_{in}(t)}{a_{1n}(t)} f_1(t) + f_i(t) + \\
 & + \sum_{k=1}^{n-1} \left[ a_{ik}(t) - \frac{a_{1k}(t) a_{in}(t)}{a_{1n}(t)} \right] \xi_k(g(t)) \int_t^{g(t)} z_1(s) ds, \quad i = 2, 3, \dots, n-1,
 \end{aligned}$$

for  $t \in [T, \infty)$ . This is a system of the form (2.3) with the coefficients defined by the formulae (2.4).

**3. Theorem.** Let  $(u_1, u_2, \dots, u_n)$  be a solution of the system of differential equations (1.1) with the coefficients satisfying the conditions (1.2)–(1.4). Assume that there exists a solution  $(\xi_1, \xi_2, \dots, \xi_n)$  of the system of differential equations (2.1) such that  $\xi_1(t) \neq 0$  for  $t \in [T, \infty)$ . If for every solution  $(v_1, v_2, \dots, v_{n-1})$  of the system of differential-integral equations (2.7) the function  $v_1$  either is identically equal to zero or has at most  $m$  zeros in the interval  $(T, \infty)$ , then the function  $u_1$  either is identically equal to zero or has at most  $m + 1$  zeros in the interval  $[T, \infty)$ .

**Proof.** Take the solution  $(u_1, u_2, \dots, u_n)$  of the system of differential equations (1.1) and the solution  $(\xi_1, \xi_2, \dots, \xi_n)$  of the system (2.1) appearing in the assumptions of the theorem. Let  $c = (u_1/\xi_1)(T)$  and

$$\eta_i = u_i - c \xi_i, \quad i = 1, 2, \dots, n.$$

Hence  $(\eta_1, \eta_2, \dots, \eta_n)$  is a solution of the system (1.1). Since

$$\eta_1(t) = \xi_1(t) \int_T^t (\eta_1/\xi_1)'(s) ds,$$

so, by Lemma 2, the function  $(\eta_1/\xi_1)'$  is the first component of a solution of the system (2.7).

We have

$$u_1(t) = \xi_1(t) \left[ c + \int_T^t (\eta_1/\xi_1)'(s) ds \right].$$

Denote

$$U(t) = c + \int_T^t (\eta_1/\xi_1)'(s) ds, \quad t \in [T, \infty).$$

Differentiating the function  $U$ , we obtain  $U' = (\eta_1/\xi_1)'$ . Thus  $U'$  is the first component of a solution of the system (2.7). By the assumption, the function  $U'$  either is identically equal to zero or has at most  $m$  zeros in the interval  $(T, \infty)$ . Hence the function  $U$  either is identically equal to zero or has at most  $m + 1$  zeros in the interval  $[T, \infty)$ . Obviously, the function  $u_1$  has the same property.

**4. Corollary.** *Let  $(u_1, u_2, \dots, u_n)$  be a solution of the system of differential equations (1.1) with the coefficients satisfying the conditions (1.2)–(1.4). Assume that there exists a solution  $(\xi_1, \xi_2, \dots, \xi_n)$  of the system of differential equations (2.1) such that the  $\xi_1(t) \neq 0$  for  $t \in [T, \infty)$ . If for every solution  $(v_1, v_2, \dots, v_{n-1})$  of the system of differential-integral equations (2.7) the function  $v_1$  is either identically equal to zero or nonoscillatory, then the function  $u_1$  has the same property.*

This corollary follows from the proof of Theorem 3, immediately.

**5. Remark.** Let the conditions (1.2)–(1.4) hold. Assume that there exists a solution  $(\xi_1, \xi_2, \dots, \xi_n)$  of the system of differential equations (2.1) such that  $\xi_1(t) \neq 0$  for  $t \in [T, \infty)$ . If the system of differential-integral equations (2.7) has no solutions with the first component identically equal to zero, then the system of differential equations (1.1) has the same property.

**6. Remark.** In particular, if the function  $g$  is identity, then  $T = t_0$  and the system of differential-integral equations (2.7) reduces to the linear system of  $n - 1$  differential equations

$$z'_i(t) = \sum_{j=1}^{n-1} d_{ij}(t) z_j(t) + h_i(t), \quad i = 1, 2, \dots, n - 1,$$

where

$$d_{11} = \frac{1}{\xi_1} \left[ \sum_{k=2}^n a_{1k} \left( \frac{a_{kn}}{a_{1n}} \xi_1 - \xi_k \right) + \frac{a'_{1n}}{a_{1n}} \xi_1 - \xi'_1 \right],$$

$$d_{1j} = \frac{1}{\xi_1} \left[ \sum_{k=2}^n a_{1k} \left( a_{kj} - \frac{a_{1j} a_{kn}}{a_{1n}} \right) - \frac{a_{1j} a'_{1n}}{a_{1n}} + a'_{1j} \right],$$

$$d_{i1} = \frac{a_{in}}{a_{1n}} \xi_1 - \xi_i,$$

$$d_{ij} = a_{ij} - \frac{a_{1j} a_{in}}{a_{1n}},$$

$$h_1 = \frac{1}{\xi_1} \left[ - \left( \sum_{k=2}^n \frac{a_{1k} a_{kn}}{a_{1n}} + \frac{a'_{1n}}{a_{1n}} \right) f_1 + \sum_{k=2}^n a_{1k} f_k + f'_1 \right],$$

$$h_i = - \frac{a_{in}}{a_{1n}} f_1 + f_i$$

for  $i, j = 2, 3, \dots, n - 1$ .

**7. Remark.** The assumption (1.2) of our paper can be weakened to the form

$$a_{ij}, f_i, g \in C[t_0, \infty] \quad \text{for } i, j = 1, 2, \dots, n,$$

$$a_{1j}, f_1, g \in C^1[T, \infty) \quad \text{for } j = \begin{cases} 1, 2, \dots, n, & \text{if } g \neq id, \\ 2, 3, \dots, n, & \text{if } g = id. \end{cases}$$

**8. Example.** For the system of differential equations

$$(8.1) \quad \begin{aligned} x'_1(t) &= a[x_1(g(t)) - x_2(g(t))] + f_1(t), & a \neq 0, \\ x'_2(t) &= b(t)[x_1(g(t)) - x_2(g(t))] + f_2(t) \end{aligned}$$

and the solution

$$\xi_1(t) = 1, \quad \xi_2(t) = 1$$

of the linear homogeneous system corresponding to this system, the system (2.7) is the equation

$$\begin{aligned} z'_1(t) &= [a - b(g(t))] g'(t) z_1(g(t)) + \\ &+ [b(g(t)) f_1(g(t)) - a f_2(g(t))] g'(t) + f'_1(t). \end{aligned}$$

By Corollary 4, if the coefficients guarantee nonoscillation of this equation, then the first component of any solution of the system (8.1) is either identically equal to zero or nonoscillatory.

**9. Example.** For the system of differential equations

$$(9.1) \quad \begin{aligned} x'_1(t) &= (2 - e^t) e^t x_1(t) - 2x_2(t) + x_3(t) + 2t, \\ x'_2(t) &= (1 - t) e^t x_1(t) + t x_2(t) + 1, \\ x'_3(t) &= (2 - t) e^{2t} x_1(t) + t x_3(t) + 4t \end{aligned}$$

and the solution

$$\xi_1'(t) = 1, \xi_2(t) = e^t, \xi_3(t) = e^{2t}$$

of the linear homogeneous system corresponding to this system, the first equation of the system (2.7) is

$$(9.2) \quad z_1'(t) = (t + 2e^t - e^{2t}) z_1(t) + 4t - 2t^2.$$

Solving this equation, we get

$$z_1(t) = c(t) \exp\left(\frac{t^2}{2} + 2e^t - \frac{e^{2t}}{2}\right),$$

where

$$c'(t) = (4t - 2t^2) \exp\left(-\frac{t^2}{2} - 2e^t + \frac{e^{2t}}{2}\right).$$

The function  $c'$  has two zeros in the interval  $[-1, \infty)$ . Hence the function  $c$  has at most three zeros in this interval and all solutions of the equation (9.2) have the same property. By Theorem 3, the first component of any solution of the system (9.1) has at most four zeros in the interval  $[-1, \infty)$ .

## REFERENCES

- [1] Z. Butlewski, *O całkach rzeczywistych równań różniczkowych liniowych zwyczajnych*, Wiad. Mat. XLIV (1938), 17–81.
- [2] Z. Butlewski, *Sur les intégrales non oscillatoires d'un système de trois équations différentielles linéaires*, Ann. Polon. Math. XVIII (1966), 95–106.
- [3] J. Mikołajski, *On a certain property of the linear system of two differential equations*, Funct. et Approximatio XVI, (1988), 175–180.
- [4] J. Mikołajski, *On the linear systems of differential equations with a bounded number of zeros of their solutions*, Comment. Math. XXVII. 2, (1988), 275–282.
- [5] J. Mikołajski, Z. Ratajczak, *On the nonoscillatory solutions of a system of four linear homogeneous differential equations*, Fasc. Math. 13 (1981), 51–59.
- [6] Z. Ratajczak, *On monotone solutions of a system of  $n$  linear nonhomogeneous differential equations*, Fasc. Math. 10 (1978), 47–52.

*J. Mikołajski*  
*Technical University of Poznań*  
*Institute of Mathematics*  
*ul. Piotrowo 3A*  
*60-963 Poznań*  
*Poland*